EARAROBEEIERT — 2 N— IBISH —F

201559827 (H) 13m@{£E2H

M C2—23# C2 #5%3®kL (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . FAFIK :33. -1-1- . — BHETE (£8)
i NESIPS” i 4 fn 1(3_3)0 1-1-1-1 | 39.3 1 (4:527) ﬁmgm i1
A2 Y4~y B:TY—N—FK LEHS
7= 5 4 | RERZ 1:34.3 3-3-3-2 | 40.3| — 9 451 | RIIES (£8)
2 @l 2| TV A7 Ty 54.0 @ 2 (F) J PN
R RAHE—7 B:xRY 21455
S, _ B4 | KEHEEL 1:34.5 4-4-5-4 | 40.4 | — 6 441 | REEBOR (1£E)
3lglg|¥a—br—% 54.0 (3/4) (cay | EHEE
LA—=TNHhT BTN L)— BaE i
S s 4 | EAESR 1:34.6 2-2-2-3 | 40.7| — 2 448 | WHEE (£H)
4|5]5 ho /) FHeE X 54.0 o 1) AT
R:T59v 784K B:70-I—>— EStae]
N RHEET :34. —7-7- X — KEFHK (£8)
N - BEEEPAIZ LS LR i Ry B P s
R4 TATv— B:XZ2—=F1ITvy b N
o . DI :35. -9-9- . — EARIT (£8)
6177 TRY1YVy i 54% 1(345)7 $999 406 s (4:325) ’§§§ﬂ7 -
L:Er/n7aq BiaxI - J—HrTr—LA
s g B 4 | BREA 1:35.8 8-8-8-8 |41.1| — 4 438 | FHRPAIE (1£H)
ARBRRER NP 54.0 (3/4) (-3) |EEA B
LT 1 =TAHA B XA by Y — FHBSE
. _ IS . —6-6- — XHAE (£8)
8 3| PH7E—51 b it 4 o 1.(326).2 5-6-6-7 | 41.8 8 <4+323; e
R:TPL AT 4y ITA N BETFT—XA R 3 & HAEAKS
S . o4 | JISH 1:36.3 7-5-4-6 | 42.3| — 7 497 | WWHES (£E)
9|8l9| 7>/ EAR 56.0 (7€) Gy |HEAE
LERYIFRNYT—/ BAFAY—FIa—X A
® I—F—@EBIERL
|S=7r= 4,5,2,8,3,6,9,1,7
Ao=5"= 4,5,2,8,9,3,6,1,7
T =35r= 4,5,2,9,8,3,6,1,7
41—F— 4,2,5,8,6,9,3,1,7
[ N5
B R 4 1108 | [ 74 K 2-4 1,230M | | # = 2-4 3,410 | | =& 2-4-8 17,130
# B 4 1004 4-8 420 B E 2-4 4,910M EE 4-2-8 62,850
2 1,260 2-8 6,070/ B H 4-2 5,740M
8 240M

ABICOVWTRDTEEERROODE. TR LIV,




